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UIL ACCOUNTING

District 2002-D1

Group 1

Indicate for each of the following accounts whether the account is a nominal or real account.  Use the code:  R=real   N=nominal

1. Income Summary




2. Office Supplies on Hand



3. Joy Dailey, Capital

4. Salary Expense

5. Joy Dailey, Drawing

Group 2

The capital, withdrawals, and Income Summary accounts for Daisy’s Cleaners for the year 2001 are presented below in T-accounts after the recording and posting of all closing entries.  Use the information to answer questions 6 through 9.

	Daisy May, Capital
	
	Daisy May, Drawing

	12/31/01             200
	1/1/01              500
	
	3/1/01               100
	12/31/01           300

	12/31/01             300
	
	
	6/1/01               100
	

	
	
	
	9/1/01               100
	

	
	
	
	

	Income Summary
	
	
	

	12/31/01          1,000
	12/31/01          800
	
	
	

	
	12/31/01          200
	
	
	

	
	
	
	
	


6. In the year 2001, the owner invested in her business


A. zero

B. $500

C. $1,000

D. $1,300

E. some other amount

7. For the year 2001, the owner withdrew from the business


A. zero

B. $100

C. $300


D. $600


E. some other amount

8. Net income or net loss for the year 2001 was


A. $200 Net Loss


D. $500 Net Income


B. $200 Net Income

E. some other amount


C. $500 Net Loss

9. The ending balance of Daisy May, Capital on 12-31-01 is


A. $400 debit



D. $500 credit


B. $400 credit


E. some other amount


C. $500 debit

Group 3

At year-end, the accountant found the following errors while working with the trial balance.

Error 1:  The $1,240 balance of the Office Equipment account was listed in the 





  credit column of the trial balance.

Error 2:  An investment in the business of $6,000 by the owner was journalized 





  as a debit to the capital account and as a credit to Cash.

Error 3:  The Rent Expense account balance of $10,080 was listed on the trial 





  balance as a debit of $10,800.

Analyze the effects of the above errors on the trial balance and write the correct answer on your answer sheet for items 10 through 18.


Error 1…….#10……………………………#11……………………………..#12

Error 2…….#13……………………………#14……………………………..#15

Error 3…….#16……………………………#17……………………………..#18

Group 4

For question #19, write the correct amount on your answer sheet.  Some of the subtotals on a worksheet before net income or net loss is calculated are as follows:

	Income Statement Debit
	$157,860

	Balance Sheet Debit
	    60,013

	Balance Sheet Credit
	    84,925


 *19. What is the amount of the Income Statement Credit column subtotal before net 

      income or net loss is calculated?

Group 5

Some amounts are omitted in each of the following financial statements:

	                                                      Income Statement

	For the Year Ended September 30, 2001

	
	Red Company
	Blue Company
	Green Company

	Revenues
	               (a)
	            69,000
	        $80,000

	Expenses
	           78,000                               
	            71,000
	             (g)


	Owner’s Equity Statement

	For the Year Ended September 30, 2001

	
	Red Company
	Blue Company
	Green Company

	Capital, October 1
	             60,000
	            54,000
	              (h)

	Net Income <Loss>
	             18,000
	               (d)
	           18,000

	Drawing
	                (b)
	            10,000   
	             5,000

	Capital, Sept. 30
	             63,000
	               (e)
	         115,000


	Balance Sheet

	September 30, 2001

	
	Red Company
	Blue Company
	Green Company

	Total assets
	                (c)
	             77,000
	         137,000

	Total liabilities
	             27,000
	             35,000
	              (i)

	Total owner’s equity
	             63,000
	                 (f)
	        115,000     


Determine the missing amounts for items “a” through “i” and write the correct amount for each on your answer sheet.  A net loss must be indicated by brackets or parentheses.

20. Item a







21. Item b







22. Item c







 *23. Item d

24. Item e

25. Item f

26. Item g

27. Item h

28. Item i

Group 6

Use the following chart to answer questions 29 through 32.  Write the identifying letter of the best response on your answer sheet.

  1. Cash




 



  2. Accounts Payable


  

  3. John Brown, Capital


  

  4. John Brown, Withdrawals



  5. Income Summary (debit balance)


  6. Income Summary (credit balance)


  7. Sales

  8. Sales Discounts

  9. Purchases

10. Purchases Discounts

11. Transportation In

12. Utilities Expense

29. A debit will increase the following accounts:


A.  1, 2, 4, 8, 9, 12


B.  1, 4, 5, 7, 11


C.  1, 4, 5, 8, 9, 11, 12


D.  2, 3, 7, 10

30. A debit will decrease the following accounts:


A.  1, 4, 8, 9, 11, 12


B.  2, 3, 6, 7, 10


C.  2, 4, 7, 10


D.  2, 4, 8, 10

31. A debit is used to close the following accounts:


A.  2, 3, 6, 7, 10


B.  1, 4, 5, 8, 9, 11, 12


C.  8, 9, 11, 12


D.  6, 7, 10

32. A credit is used to close the following accounts:


A.  4, 5, 8, 9, 11, 12


B.  6, 7, 10


C.  1, 4, 5, 8, 9, 11, 12


D.  8, 9, 10, 11, 12

Group 7

Use the following information to answer questions 33 through 38.  Write the identifying letter of the best response on your answer sheet.

	Sales
	32,840
	
	Net Income <Loss>
	<5,932>

	Cost of Mdse Sold
	17,706
	
	Transportation In
	2,478

	Purchases
	19,888
	
	Purchases Returns & Allow.
	2,655

	Beginning Inventory
	4,670
	
	Sales Discounts
	1,821

	Purchases Discounts
	1,825
	
	Sales Returns & Allow.
	492


33. Net sales are:


A. $30,527

D. $32,840


B. $31,019

E. $35,153


C. $32,348

 *34. Cost of merchandise available for sale is:


A. $15,408

D. $20,078


B. $17,706

E. $22,556


C. $17,886

35. Cost of delivered merchandise is:


A. $2,478

D. $22,366


B. $17,410

E. $22,556


C. $17,886

36. Net purchases are:


A. $15,408

D. $22,366


B. $17,886

E. $26,846


C. $19,888

 *37. Ending inventory is:


A. $2,372

D. $11,628


B. $4,670

E. $13,036


C. $4,850

 *38. Total expenses are:


A. $6,889

D. $21,066


B. $8,304

E. $23,638


C. $18,753

Group 8

For each of the items in 39 through 44, match the correct term.  Write the identifying letter of the correct term on your answer sheet.

A.  accounting period cycle


H.  matching principle

B.  business entity





 I.  materiality

C.  conservatism





J.  objective evidence 

D.  consistent reporting



K.  realization of revenue

E.  full (adequate) disclosure


L.  relevance

F.  going concern





M.  reliability

G.  historical cost





N.  unit of measure

39. This concept is applied when the same accounting procedures are followed in the  

      same way in each accounting period.

40. This concept means that the information “makes a difference” to a user in reaching 

      a decision about a business.

41. This concept is applied when changes in financial information are reported for a 

      specific period of time in the form of financial statements.

42. This concept is applied when the amount paid for an asset is the amount debited to 

      the asset account.

43. This concept is applied when revenue is recorded at the time goods or services are 

      sold.

44. This concept is applied when financial statements contain all information necessary 

      to understand a business’ financial condition.

Group 9

Refer to the information in Table 1 on page 10.  You may remove the table pages from the staple for convenience.  Write the correct amount on your answer sheet for items 45 through 50.

45. If the sales tax rate was 5%, what amount of taxable sales was required to generate 


the liability on the December 31, 2001 balance sheet?

46. What amount of supplies was purchased in 2001?

 *47. What is the amount of total liabilities and owner’s equity as of 12-31-01?

48. What was the 1-1-01 balance of Prepaid Insurance?

**49. Assume that half of the customer receivables were collected and that all of the 

 
liabilities were paid on January 1, 2002.  What would be the amount of total assets 

after these transactions?

 *50. What was the amount of net income for the year 2001?

Group 10

Items 51 through 57 are some of the transactions of the Jolt Co. for the month of March.  Refer to the special journals listed below and the column heading identifying letters “A through R”.

On your answer sheet, write the identifying letter(s) of the correct column heading(s) to be used for each of the transactions.  (Some questions require an answer with multiple column headings.  In these cases, all column headings must be identified correctly and may be written in any order.)

	Sales Journal
	
	Purchases Journal

	A.
	 Sales
	
	J.
	 Accounts Payable

	B.
	 Sales Tax Payable
	
	K.
	 Purchases

	C.
	 Accounts Receivable
	
	L.
	 General Debit

	
	
	
	
	

	Cash Receipts Journal
	
	Cash Payments Journal

	D.
	 General Credit
	
	M.
	 General Debit

	E.
	 Sales
	
	N.
	 Accounts Payable

	F.
	 Sales Tax Payable
	
	O.
	 Purchases Discounts

	G.
	 Accounts Receivable
	
	P.
	 Cash in Bank

	H.
	 Sales Discounts
	
	
	

	I.
	 Cash in Bank
	
	General Journal

	
	
	
	Q.
	 Debit

	
	
	
	R.
	 Credit


51. The amount that Jolt Co. owes to the state for sales tax when a customer purchases 

merchandise on account.

 *52. The debit side of the transaction when a customer pays Jolt Co. on account within 

the discount period in a state that requires sales tax to be paid on the original

invoice amount of sale.

 *53. The credit part of the transaction when taxable cash sales are recorded.

54. The credit side of the transaction when a customer pays on account after the 

discount period.

55.  The debit amount when merchandise is purchased on account.

 *56. The debit amount when supplies for office use are purchased on account.

57. The debit amount when an insurance premium is paid by check.

Group 11

For questions 58 through 62, write the correct amount on your answer sheet.

58. On the first day of March, the Petty Cash account had a balance of $100, which agreed to the amount of actual cash in the petty cash box.  During the month the fund was increased by $50.  Actual vouchers in the box on March 31 before replenishment totaled $145.75.  At the time of replenishment on March 31, a debit to Cash Short and Over was made for $1.16.  How much cash was actually in the box immediately preceding the replenishment on March 31?

Group 11 continued

**59. The balance in the checkbook on March 31 before the bank statement was received was $5,460.  The bank statement for March includes a $25 bank service charge, deposits of $4,500 and checks totaling $3,700.  A deposit made on March 31 for $850 and checks written the last several days in March for $625, $2.18, and $341.75 did not appear on the March bank statement.  What was the March 1 balance on the bank statement?

60. Your company purchased merchandise on account from a supplier on March 5 for $4,600 with terms of sale of 2/10, n/30.  You paid the invoice on March 14.  What was the amount of your check?

61. Your company sold merchandise to a customer for $400 plus 8% sales tax, FOB shipping point.  Freight for the shipment was $25, which you paid to National Freight Lines.  How much does your customer owe you upon receipt of your merchandise and invoice?

62. The Accounts Receivable controlling account had a balance of $86,429 on March 1.  During March the subsidiary ledger accounts contained various debits totaling $30,960 and various credits totaling $41,721.  If everything was posted correctly to the subsidiary ledger accounts, what should the March 31 balance of Accounts Receivable be?

Group 12

Refer to the information in Table 2 on page 11.  Answer questions 63 through 70 using the code:  T=true    F=false

63. The balance of Prepaid Insurance on the unadjusted trial balance of the worksheet will be the same as the balance of Prepaid Insurance on the Post-Closing Trial Balance for the same time period.

64. In September of 2001, Prepaid Insurance was credited for $1,800.

65. To adjust Prepaid Insurance on December 31, 2001, Insurance Expense must be debited for $300.

66. The correct balance of Prepaid Insurance on the December 31, 2001 Balance Sheet is $1,500.

67. The Supplies account had to have had a January 1, 2001 balance of $10,650.

68. In order to report the actual 12-31-01 inventory of supplies on the Balance Sheet, the Supplies account must be credited $6,000.

69. The adjustment to record the newly discovered Invoice #A-710 includes a debit to Cash of $2,500.

70. The balancing total of the adjustment columns is $8,800.

Group 13

Table 3 on page 12 shows the Employee Earnings Record of Jason Dawson employed by Temco.  All the information presented is correct.  The missing information can be determined from the data given.  Round all answers to the nearest cent.  Temco’s payroll policies and other information are also shown in Table 3.

For questions 71 through 77, write the identifying letter of the best response on your answer sheet.

71. What is the net pay for first quarter?


A. $1,029.82
B. $4,850.18
C. $5,880.00
D. $6,909.82

72. What is the amount of social security tax withheld for the week ending May 13?


A. $3.80
B. $6.89
C. $13.78
D. $29.45
E. $38.00

73. What is the amount of medicare tax withheld for the week ending April 29?


A. $3.68
B. $6.67
C. $9.48
D. $28.52
E. $36.80

 *74. How many overtime hours did Jason work the week ending April 8?


A. zero

B. 3


C. 4.5


D. 8

E. 40

 *75. What is the gross pay for the week ending April 22?


A. $121.61

B. $366.02

C. $400.00

D. $438.62

E. $520.00

 *76. How many overtime hours did Jason work the week ending May 6?


A. 6

B. 9

C. 46

D. 49

77. Based on the payroll policies given, what is the maximum amount of social security 

tax that could be withheld from an employee in this calendar year?

A. $1,165.80
B. $2,090.40
C. $4,984.80
D. no maximum

For questions 78 through 80, write the correct amount on your answer sheet.

 *78. What amount of gross pay for the week ending April 15 is taxable for FUTA?

 *79. What is the amount of state unemployment tax owed just for the week ending


May 13?

**80. There are five pay periods in June.  Jason worked 40 standard hours each week in


June, with no overtime.  What is his year-to-date accumulated gross pay at the end

of the second calendar quarter?

This is the end of the exam.  Please hold your answer sheet and exam until the contest director calls for them.  Thank you.

Table 1

(For questions 45 through 50)

	Digital Works

	Balance Sheet

	December 31, 2001

	Assets
	
	
	Liabilities
	

	Cash
	$     10,250
	
	Accounts Payable
	  $     7,540

	Accounts Receivable
	15,670
	
	Sales Tax Payable
	       1,240

	Merchandise Inventory
	     ?
	
	Total Liabilities
	         8,780

	Prepaid Insurance
	1,200
	
	
	       

	Supplies on Hand
	            840    
	
	Owner’s Equity
	

	
	
	
	Marion Jacobs, Capital
	?

	Total Assets
	  $       ?
	
	Total Liabilities and

   Owner’s Equity
	   $   ?

	
	========
	
	
	========


The balance in the capital account on January 1 was $23,990.  The owner made an investment of $15,000 in the business in 2001 and withdrew $10,000 in cash for personal use.

The amount of Merchandise Inventory as of 12-31-00 was $42,780.  On December 31, 2001 Merchandise Inventory was adjusted with a credit of $1,100.

Insurance was purchased twice during the year for $700 and $650.  During 2001, $980 in insurance expired.

Supplies Expense for 2001 was $260.  Supplies on hand as of 12-31-00 was $680.

Table 2

(For questions 63 through 70)

The bookkeeper for Dynamic Connections Co. gathered the following information in order to prepare the annual adjusting entries for December 31, 2001.  (Dynamic Connections Co makes no adjusting entries monthly.)

· The Prepaid Insurance account contains an increase of $1,800 for a two-year policy acquired on September 1, 2001.  This is the balance of Prepaid Insurance on the unadjusted Trial Balance.

· The balance in the Supplies account on the unadjusted trial balance is $10,650.  A physical inventory of supplies on December 31, 2001 indicates $4,650 of supplies on hand.

· The balance in the Accounts Receivable account on the unadjusted trial balance is $24,960.  A 2001 missing invoice #A-710 for $2,500 for a sale on account to a customer was found while preparing adjusting entries.  The bookkeeper elected to record Invoice #A-710 as an adjusting entry.  Recording these kinds of corrections as adjusting entries is a common practice at Dynamic Connections Co.

· Merchandise Inventory on the unadjusted trial balance is $30,870.  A physical inventory on December 31, 2001 indicates $28,410 on hand.

Table 3

(For questions 71 through 80)

Temco’s company payroll policies and other information:

	Payroll Period
	Weekly

	Standard Work Week
	40 hours

	Overtime Pay
	Time and a half for hours over standard

	Social Security Rate (employer and employee)
	6.2% on gross earnings up to $80,400 per employee

	Medicare Rate
	1.45% on all gross wages

	FUTA (federal unemployment tax)
	.8% on first $7,000 gross earnings per employee

	SUTA (state unemployment tax)
	2.6% on first $9,000 gross earnings per employee

	Jason Dawson’s standard rate of pay
	$10.00 per hour


	Week Ending
	Standard

Hours
	OT

Hours
	Gross

Earnings
	Social Security Tax
	Medicare Tax
	Federal Income 

Tax
	Net

Pay

	1st Qtr.
	480
	
	5,880.00
	364.56
	85.26
	580.00
	

	
	
	
	
	
	
	
	

	Apr 1
	40
	2
	430.00
	
	6.24
	34.40
	

	8
	40
	
	445.00
	27.59
	6.45
	35.60
	375.36

	15
	40
	12
	580.00
	35.96
	
	46.40
	

	22
	40
	
	
	
	7.54
	41.60
	

	29
	40
	4
	460.00
	28.52
	
	36.80
	

	
	
	
	
	
	
	
	

	May 6
	40
	
	
	30.38
	
	39.20
	

	13
	40
	5
	475.00
	
	6.89
	38.00
	

	20
	40
	
	625.00
	38.75
	9.06
	50.00
	

	27
	40
	9
	
	33.17
	7.76
	42.80
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


Would the error cause the trial balance to be out of balance?  Write “yes” or “no” on your answer sheet.





Write the amount of imbalance (or zero for no imbalance) on your answer sheet.





Is a correcting journal entry required?  Write “yes” or “no” on your answer sheet.








